BREEE—EX
Eamk | S| 2E (MEC| (5| [HiER Z8 = =4 mE | s o
B | 3% [ Eod | BT | BT R FER | BERT| mERM | mERE6 | kT |[LER| XREAR
10 (4F51) 204 686 5 0 3 403 69 206 403 0 0 265 S23.11.9
20 209| 1,229 45 0 0 804 48 327 796 8 0| 391 S24.12.10| #4554
25 3[a] (E&RF) 51| 398 11 0 1| 275 (&#ET41) | 16 (BT 14) 100| 270 (& #rfe444) 3 2 156 $24.12.10
$4m 23| 86 14 0 0 42 0 30 a4 1 0 22 S24.12.10|S23.12.23% & R ER
2508 (FF31) 110 1,144 0 0 0 803 36 305 768 33 2| 310 S24.12.10
ZE6al (FRRE) 40 831 0 0 0 491 18 322 468 23 0| 275/ S25.12.15
%7 150| 2,156 0 1 0 1,297 58 800 1,288 9 0| 883 S25.12.15
8] (FRRF) 20 502 0 1 0 387 2 112 376 11 0 173 $25.12.15
2 9[a] (E&RRF) 19 447 0 0 0 336 2 109 319 1 16 189 $26.12.14
%100 178] 2,019 0 0 0 1,598 9 412 1,552 46 0| 521 $26.12.14
118 (ERRF) 3] — — — — — — — — — — — —|ZEEY
F12[E (ERF) 52( 1,294 0 0 1 1,026 0 267 999 22 5/ 863| S27.12.16
ERIE 235| 3,306 0 0 0 2,623 7 676 2,496 126 1| 2062 S28.12.22
£ 14[H] 3| 116] 116 0 — — — — — — — — —|S27.8.28%R &R iR AL
150 (4%580) | 142| 3,251 403 0 1 697 1 2,149 644 47 6| 349 $28.12.22|528.3.145E &R AR EL
F16[E (FF51) 85| 3,035 0 0 0 2,604 17 414 2,598 6 0| 2474 S29.12.21
170 (ERF) 10| 225 0 0 0 188 0 37 188 0 0o 144 s29.12.21
55 18[0] (FS ) 9] 340 0 0 0 109 11 220 109 0 0 41 $29.12.21
£ 19[H] 188 2,692 0 0 0 1,722 16 954 1,718 4 0] 953 S30.12.20
E20[E] (ERRF) 10| 246 0 0 0 123 0 123 123 0 0| 100 S30.12.20
F21[E 46| 263 75 0 0 — — 188 — — — — —|S30.1.24 58 5 [ iR EL
2208 (4%580) [ 135 1,729 0 0 1 999 2 727 996 3 0 665 S31.12.26
5523[0] (EREF) 25 386 0 0 0 323 4 59 321 2 0 179 S31.12.26| B RE 14
£24[] 167| 1,623 0 1 3 747 0 872 741 6 0 573 S31.12.26| B RE(145
250 (ERRF) 32| 324 0 0 0 217 4 103 217 0 0 129  S32.1224|ERZE7
£26[] 151 2,131 0 0 1 1,177 1 952 1,177 0 0 966 S32.12.24|E RE 4120
270 (EREF) 14| 694 0 0 0 612 0 82 610 2 0 529 S$33.12.26| B R ZE {1
% 28[H] 127 1,923 69 0 2 851 2 999 851 0 0| 659 S33.12.26 BREMS -
S33.4.25% i iR ER
2E29[E] (4551 29| 179 0 0 0 127 0 52 127 0 0 105|  S33.12.26|EREft2
25 30[E] (ERARF) 70| 1,324 0 0 0 — — 1,324 — — — — —
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B | 3% [ Eod | BT | BT R FER | BERT| mERM | mERE6 | kT |[LER| XREAR

%31 144 1,894 0 0 1 1,264 12 617 704 2 558  622|  S34.12.29

%32[m (FERF) 12| 36 0 0 0 28 0 8 28 0 0 20|  S34.12.29

£330 (ERRF) 63| 1,543 0 0 1 1,301 35 206 1,301 0 0| 1218 S35.1227|ERZEt2

34 200] 3,799 0 0 0 — — 3,799 — — — — —

53500 (EREF) 5] — — — — — — — — — — — —|ZEEY

36 (FERF) 8] 65 0 0 0 13 0 52 13 0 0 12|  S35.12.27|S35.10.24 58 S5 R 8L

378 (4 71) 18] 269 0 0 0 244 0 25 244 0 0 240 S36.12.23| B RE 15

%38 165 2,939 0 0 1 1,322 51 1,565 1,320 2 0| 12307 $36.12.23

£539[E] (ERRF) 37| 1,093 0 0 1 466 2 624 466 0 0| 457 $37.8.25

400 150| 3,613 0 0 0 1,884 5 1,724 1,884 0 0| 1,794| S37.12.27|ERZf1

F 410 (FeRF) 30[ 453 0 0 0 343 0 110 343 0 0] 341 $38.10.18

F420E (FRF) 16| 668 0 0 0 513 0 155 513 0 0| 494| S$38.10.18|ERZE{t2

436 195( 3,755 0 0 0 629 0 3,126 4 0 625 4| S38.12.27

F44[E (ERRF) 9] 198 198 0 — — — — — — — — —|S38.10.23 R iR fiR R

25450 (4F51) 15| 199 0 1 0 98 0 100 98 0 0 96 $39.11.24

£ 46[E] 190| 3,252 0 0 0 1,300 34 1,918 1,300 0 0| 12300 S39.12.25

F47E (EERF) 40[ 918 0 0 0 594 0 324 594 0 0| 594 $40.8.3

% 48[E] 163| 2,876 0 0 0 1,576 0 1,300 1,576 0 0| 1576] S40.12.24

E49[a] (ERRF) 211 179 0 0 0 155 0 24 154 1 0 154]  S40.12.24

500 (ERRF) 70( 1,615 0 0 1 953 0 661 946 7 0] 946 S41.7.22|E R E(t46

Z£51E 190| 3,208 0 0 0 1,536 0 1,672 1,536 0 0| 1534 S41.12.13

E52[0] (FRk) 20 194 0 0 0 74 0 120 74 0 0 74 $42.6.24

55530 (ERRF) 21 713 0 0 0 595 0 118 595 0 0 594 S42.12.21

Z£54[E] 1 0 — — — — — — — — — — —|S41.12.27R R fR R

ZE55m] ($55A1) | 157 4,209 0 0 1 2,236 0 1,972 2,236 0 0| 2223 $43.5.22

56 (ERRF) 23| 646 0 0 0 447 0 199 447 0 0| 447 S43.5.22

570 (Fak) 20 1,128 0 0 0 971 0 157 971 0 o 9M $43.8.9

% 58[E] 160| 5,307 0 1 1 2,400 0 2,905 2,400 0 0| 2,387 S44.1.24

5590 (EREF) 10| 155 0 0 0 111 0 44 111 0 o 110 S44.1.24

Z60[@ (E&RF) 12| 413 0 0 0 227 0 186 227 0 o 227 S44.5.23

£61[E 222| 9,636 0 0 0 — — 9,636 — — — — —
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2£62[8] (EREF) 4 3 3 0 — — — — — — — — —|S44.12. 25 E R R EL
£E63[E (4%5I) | 120] 4,437 0 7 0 1,887 0 2,543 1,887 0 o| 1887 S45.12.7
5648 (EREF) 25 752 0 0 0 560 0 192 560 0 0 560 S46.7.14
% 65[H] 150| 4,072 0 0 0 1,425 0 2,647 1,425 0 0| 1425 S47.1.28
2£66[8] (EREF) 11 33 0 0 0 19 0 14 19 0 0 19 S47.1.28
567 (EREF) 73] 3,092 0 1 1 1,776 0 1,314 1,776 0 ol 1,776 S47.5.16
%£68[a] 171| 3,028 0 2 1 1,320 0 1,705 1,320 0 0| 1,320 s47.11.11
2£69[a] (EREF) 1 — — — — — — — — — — — —|ZEEY
£ 700 (EREF) 18] 341 0 0 0 165 0 176 165 0 0 165 S48.5.18 ;éﬁ-%gl%éﬁﬁﬁi
SE71[E (4 50) | 280] 5,611 0 0 2 1,903 0 3,706 1,903 0 o[ 1,903 S48.1227|ERE 22
£72[H 185| 5,513 0 1 0 1,971 0 3,541 1,971 0 0| 1,971 $49.12.9
73] (E&EF) 8l 178 0 0 0 132 0 46 132 0 0 132 $49.12.9
740 (B&RF) 17] 2,109 0 1 0 1,286 0 822 1,286 0 0| 1,286 S50.6.14|E RE135
%750 190 7,915 0 4 1 1,568 0 6,342 — — 1,568 — —
Z76[E (ERE%) | 106] 6,622 0 0 0 2,229 0 4,393 2,229 0 of 2229 S51.5.24|EREH114
E£77H 150| 8,708 0 0 0 2,371 0 6,337 2,368 3 o[ 2368 S51.12.24| B R E11282
25 78[a] (ERRF) 50| 4,179 0 1 0 1,156 0 3,022 1,109 47 0| 1,109 $52.5.28 & RZE {151
79[ (EGRF) 5] — — — — — — — — — — — —|ZEEY
%80/ 162| 6,567 0 1 3 2,643 0 3,920 2,622 21 0| 2622 S52.1226|ER=E1192
£581[E] (ERRF) 8| 57 0 0 0 28 0 29 28 0 0 28|  S52.12.26|ERE{+4
2£82[8] (E&RkF) 58| 3,733 7 0 1 384 0 3,341 384 0 0 384 S535.10( B REf13
£583[a] (ERRF) 4 — — — — — — — — — — — —|ZEEY
E84[H] 180| 7,146 0 3 3 2,074 0 5,066 2,074 0 of 2074 S53.12.26| E R E {146
2585[a] (ERRF) 34| 1,615 0 2 1 252 0 1,360 252 0 0 252 S545.12(EREf4
£586[m (ERRF) 1l — — — — — — — — — — — —|ZEEY
%87[H 175| 4,489 0 1 2 483 0 4,003 — — 483 — —
2588[a] (FRhF) 9] 169 11 0 0 31 0 127 31 0 0 31 S54.12.24|S54.9. 75 & R R 8L
2589 (4F351) 18| 206 0 0 46 0 160 46 0 0 46 $55.5.12
£590[E] (ERRF) 16| 275 0 0 101 0 174 101 0 0 101 $55.5.12| B REff2
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%£91[H] 151| 4,002 0 1 1 968 0 3,032 968 0 0| 968 S55.12.24 %?Fi%§**9z -
S55.5.195R & T AZ AKX
2£92[E (%571 10| 170 0 0 0 71 0 99 71 0 0 71 S55.12.24| B R &4+2
£593[a] (FRRF) 62| 2,847 0 0 0 456 0 2,391 456 0 0| 456 $56.5.8| 2 REH
% 94[H] 167| 5,444 0 1 0 1,039 0 4,404 1,039 0 0| 1039 S56.1225|EREt79
£595[0] (ERRF) 66| 2,546 0 4 0 410 0 2,132 410 0 0 410 S57.4.23|ERE1190
££96[] 244| 5,832 0 1 3 692 0 5,136 692 0 0 692 S57.12.28| E R ZE 1169
2£97[E] (E&EF) 30| 1,069 0 0 0 272 0 797 272 0 o 272 $58.5.10
£ 98[H] 150| 4,225 0 0 1 594 0 3,630 594 0 0 59 S59.1.13|E R&E(F27
£599[E] (ERAF) 6] — — — — — — — — — — — —|ZEEY
100 (FREF)| 82| 2,737 0 0 3 147 0 2,587 147 0 0 147 $59.4.27(S58.11.28 %R &M iR BL
FE101[E (4551)| 227(10,693 0 1 1 750 0 9,941 745 5 0| 745 S59.12.14|ERE1+29
£102[H] 207| 8,064 0 1 0 852 0 7,211 852 0 0| 852 S60.12.17
$£103E] (B&RS)| 69| 1,104 0 0 0 140 0 964 139 1 0 139 S61.5.9
%£104[H 150| 3,333 0 1 1 375 0 2,956 373 2 ol 373 s61.12.12
%1050 (ERAEF) 1 0 — — — — — — — — — — —|S61.6.25R &R AZ AR
£E106[E] (45 31) 4 — — — — — — — — — — — —|ZEET
8107 (E&FF)[ 101] 2,403 0 0 1 145 0 2,257 145 0 0 145 S62.5.19|E RE1+1
% 108[E] 150| 7,592 0 0 0 263 0 7,329 263 0 0| 263 S621211|ERE+32
E109[E (E&RF)| 76| 2,223 0 0 0 168 0 2,055 168 0 0 168 S63.5.10|E RE(14
F110E] (FRRF) 6] — — — — — — — — — — — —|ZHEET
FE111[E (E&EF)| 16| 210 0 2 1 104 0 103 104 0 0 104 $63.5.10
£112[E 150| 2,106 0 1 1 323 0 1,781 323 0 0ol 323 S63.12.9(E RE {1
113 (BREF)[ 163| 5,405 0 2 1 270 0 5,132 270 0 ol 270 H1.5.19
#1140 175| 1,418 0 0 0 326 0 1,092 324 2 0o 324 H1.12.12|ERE(F23
% 115E] (FRkF) 6] — — — — — — — — — — — —|ZHEET
SE116[E (BEFF)| 80| 4,991 0 0 0 187 0 4,804 187 0 0 187 H2.6.11| & RZEt2
£117[E 31 30 0 1 0 9 0 20 9 0 0 9 H2.6.11|H2.1.2458 iR AR ER
118[E (45 51)[ 120] 2,302 0 0 1 270 0 2,031 270 0 0 270 H2.12.11
11900 (EREF)|  30[ 1,139 0 0 1 173 0 965 173 0 0 173 H3.4.26
1200 150| 3,435 0 0 2 558 0 2,875 558 0 0 558 H4.1.28| 2 RZE{189
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12108 (BREF)| 61( 1,612 0 0 0 128 0 1,484 128 0 0| 128 H4.5.22

F122[0 (FRRE)| 47| 1,428 0 0 0 328 0 1,100 328 0 0| 328 H4.5.22| & RE 11

%123 150| 4,206 0 0 0 575 0 3,631 575 0 0| 575 H5.1.26( = R E {11

55 124[0] (EREF) 5] — — — — — — — — — — — —|ZEEY

%1250 (BRBs)| 42 1,266 0 0 0 182 0 1,084 182 0 0 182 H5.5.25

%1268 148| 3,572 0 0 0 — — 3,572 — — — — —|H5.6.1822 s AR &R

F127[E (4F50)| 24| 22 0 0 0 5 0 17 5 0 0 5 H6.2.4

%1280 (F&B%)| 135 2,043 0 1 2 379 0 1,661 379 0 o 379 H6.5.31

%129 150| 2,664 0 1 1 697 0 1,965 692 5 0] 692 H7.1.31

5130[E] (E&R%) 5| — — — — — — — — — — — —|ZEET

F131[E (Bafs)| 71| 1,895 0 1 2 319 0 1,573 319 0 0| 319 H7.5.23

%132 150| 2,205 0 0 1 639 0 1,565 639 0 0| 639 H8.1.30

55133[0] (ERAEF) 5] — — — — — — — — — — — —|ZEEY

1340 (ERBF)| 78 833 0 1 0 82 0 750 82 0 0 82 H8.5.28

55135 (E&AF) 3] — — — — — — — — — — — —|ZEET

#1368 150| 2,444 0 1 1 545 0 1,897 545 0 0| 545 H9.2.4

1370 (EREF) 1 0 — — — — — — — — — — —|H8.9.27R &R AZ AL

251388 (4% 51) 6] — — — — — — — — — — — —|ZEEY

%1390 (ERFF)| 20 632 0 1 0 99 0 532 99 0 0 99 H9.6.16

%140 150| 2,888 0 0 0 653 0 2,235 652 1 0| 652 H9.12.9

F141[E (FgRE)|  75( 2,269 0 1 0 323 0 1,945 323 0 0| 323 H10.6.1

£ 1420 158| 3,330 0 4 0 276 0 3,050 272 4 o 272 H10.12.9

1430 (BGEF)| 79| 741 0 0 0 47 0 694 47 0 0 47 H11.3.29

%1440 (BREF)| 18] 515 0 0 0 47 0 468 47 0 0 47 H11.5.24

%1450 207| 4,679 0 0 0 796 0 3,883 796 0 0| 796 H12.3.8

F146[E (FRRE)| 48| 1,082 0 0 0 86 0 996 86 0 0 86| H12.11.27

£147[H] 135 1,676 40 0 0 — — 1,636 — — — — —|[H12.6.25R &P iR AL

E148[E (4% 371) 3| — — — — — — — — — — — —|ZEET

149 (E&EF)| 13| 90 0 0 0 0 0 90 — — — — —

E150[E (FgRE)| 72| 1,784 0 0 0 135 0 1,649 135 0 0| 135 H13.12.5

£151E 150| 2,892 0 1 1 264 0 2,626 264 0 0| 264 H14.4.1
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55152[0] (ERHEF) 4] — — — — — — — — — — — —|ZEET
1530 (B&Rs)| 72| 1,328 0 0 0 369 0 959 369 0 0] 369 H14.6.12
%1540 192 4,820 0 0 0 630 0 4,190 505 125 0| 505| H14.11.27
% 155[E] (BgBs)| 57| 1,379 0 0 0 133 0 1,246 133 0 0 133 H15.6.11
%156 190| 3,666 0 1 1 349 0 3,315 349 0 0| 349 H16.2.4
F157H (BRE%)| 15| 264 70 0 0 — —_ 194 — — — — —|H15.10.108 ;52 fEER
25158 (45 71) 9] 50 0 0 0 0 0 50 — — — — —
%159 150 4,415 0 0 0 379 0 4,036 379 0 ol 379 H16.11.4
£5160[E] (E&REF) 8l 24 0 0 0 0 0 24 — — — — —
2£161[E (E&EF)| 53| 588 0 0 0 136 0 452 136 0 0 136 H17.6.8
%162 200( 2,785 83 1 0 — — 2,701 — — — — —|H17.8.8RERTAZEL
E163ME ($F51)| 42| 376 0 0 0 21 0 355 21 0 0 21 H18.5.15
%1640 150| 3,435 0 0 0 268 0 3,167 268 0 0o 268 H18.11.8
% 165E] (EBs)| 85| 1,253 0 0 0 155 0 1,098 136 19 0 136 H19.6.11
%1660 162] 2,434 0 0 0 358 0 2,076 357 1 o] 357 H19.11.7
1670 (EREF) 4] — — — — — — — — — — — —|ZEEY
%1680 (FRAS)| 128 1,459 0 0 0 158 0 1,301 158 0 0 158 H20.6.4
%169 156| 3,816 0 0 1 319 0 3,496 319 0 o] 319 H21.2.4
F170E(F&HD [ 93| 1,090 0 0 0 99 0 991 99 0 0 99 H21.6.3
F£171[0] 198| 3,341 44 0 0 — — 3,297 — — — — —|H21.7.21 REBRAREK
FE172[E3F5) 4 — — — — — — — — — — — —|ZEEY
E£173E(FqE) [ 40| 814 0 2 4 134 0 674 134 0 0 134 H22.5.26
£ 174[H] 150 1,790 0 0 — — 1,790 — — — — —
1750 (BR %) 8| 38 0 0 0 1 0 37 1 0 0 1 H22.11.29
F176[E(FRAS) | 64| 604 0 0 0 23 0 581 23 0 23 H23.6.13
%1770 220| 2,037 0 0 0 56 0 1,981 56 0 0 56| H23.11.30
$E178E(ERRE) | 18] 88 0 0 0 0 0 88 — — — — —
F179E(ERRF) | 51 631 0 0 1 15 0 615 15 0 0 15 H24.5.30
% 180[0] 229| 2,482 0 0 0 136 0 2,346 136 0 o] 136 H25.2.27
181 EI(ERRF) 19] 64 19 0 0 — — 45 — — — — —|H24.11.16 R E [ EL
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5 182[E(4F51) 3] — — — — — — — — — — — —|ZEEY

% 183[E] 150] 2,123 0 0 0 — — 2,123 — — — — —

5 184[E1(FRRF) 6] — — — — — — — — — — — —|ZEEY

%185mI(FqRs) [ 55/ 1,097 0 1 0 73 0 1,023 60 13 0 60 H26.5.19

%186 150] 3,244 0 0 1 322 0 2,921 315 7 o] 315] H26.11.14

F187EI(EGAE) | 54| 822] 361 0 1 — — 460 — — — — —|H26.11.2122 B8

1884 AI) 3] — — — — — — — — — — — —|ZEEY

%189 245| 4,021 0 0 0 377 0 3,644 377 0 o] 377 H28.1.27

£ 190[E] 150] 3,709 0 0 0 327 0 3,382 327 0 o] 327] H28.11.14

191 B (ERR) 3] — — — — — — — — — — — —|ZEEY

F192[E(EERER) | 83| 1,332 0 0 1 28 0 1,303 28 0 0 28 H29.5.31

% 193[H] 150] 2,472 0 0 0 192 0 2,280 192 0 0 192 H30.3.26

194 [E](FRRF) 1 0 — — — — — — — — — — —|H29.9.28 R iZ [ AR AL

195MmIC4FRN) [ 39] 561 0 0 0 1 0 560 1 0 0 1 H30.12.5

£196/[5] 182] 2,870 0 0 0 282 0 2,588 282 0 o 282 H31.3.25

E197EI(ERAF) | 48] 608 0 0 0 1 0 607 1 0 0 1 R1.6.19

% 198[5] 150] 3,095 0 0 0 293 0 2,802 293 0 o| 293 R1.11.27

2 199[E] (B i) 5 — — — — — — — — — — — —|ZEEY

5200 (B ) 67| 799 0 0 0 77 0 722 77 0 0 77 R2.6.8

£201[5] 150] 2,084 0 0 0 178 0 1,906 178 0 0 178 R2.11.24

55202 [0 (B k) 3 — — — — — — — — — — — —|ZEEg

£203EI(EGRED) [ 41] 973 0 0 0 133 0 840 133 0 0 133 R3.5.31

204[5] 150] 2,778 0 0 0 264 0 2514 264 0 o] 264 R3.12.15

552058 (B k) 11 17 0 0 0 0 0 17 — — — — —|R3.10.148 i iR EX

5206 (4F 1) 3] — — — — — — — — — — — —|ZEEY

F£207EI(EGRE) [ 16| 257 0 0 0 5 0 252 5 0 0 5 R4.6.13

% 208/H] 150 2,828 0 0 0 304 0 2,524 304 0 0

55209 [E1(ERRF) 3] — — — — — — — — — — — —|ZEEY

$210[E1(EG) [ 69] 445 0 0 0 0 0 445 — — — — —

#211[H] 150] 2,860 0 0 5 274 0 2,581 274 0 o] 274 R5.12.12

F212BEI(B&) [ 55| 647 0 0 0 2 0 645 2 0 0 2 R6.6.7

%2130 150] 3,171 0 0 0 392 0 2,779 392 0 0

%2140 (Fa k) 9 5 0 0 0 0 0 5 — — — — —|R6.10.9R BB ARER
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